Supplementary Materials

Table S1. Normalized values of the operational processing variables.

Num. Experiment Xe Xe Xr
(g/L) (%) @Y

1 000 10 20 70
2 111 12 25 80
3 111 8 25 80
4 11-1 12 25 60
5 -11-1 8 25 60
6 1-11 12 15 80
7 -1-11 8 15 80
8 1-1-1 12 15 60
9 -1-1-1 8 15 60
10 010 10 25 70
11 0-10 10 15 70
12 001 10 20 80
13 00-1 10 20 60
14 100 12 20 70
15 -100 8 20 70

Table S2. Summary of experimental values corresponding to the viscosities, apparent densities and mean pore diameters
of samples obtained from experimental design defined in table S1.

Num Xe Xp Xt Mo e 1100571 D P

@L) (%) (°C) (mPas)(mPas)(mPa-s) (g/cm?) (um)
1 0 0 0 1720 355 179 238  7.07
2 1 1 1 350 191 205 1.77  6.27
3 -1 1 1 1340 194 233 215 717
4 1 1 -1 350 191 205 1.85 9.28
5 -1 1 -1 1340 194 233 198 711
6 1 -1 1 280 67 153 237 622
7 -1 -1 1 250 165 143 244  6.62
8 1 -1 -1 280 67 153 195 733
9 -1 -1 -1 250 165 143 224 641
10 0 1 0 - 539 646 246  9.93
11 0 -1 0 1320 344 166 250 6.98
12 0 0 1 1720 355 179 256  6.09
13 0 0 -1 1720 355 179 222 649
14 1 0 0 340 127 187 1.99 724
15 -1 0 0 740 183 190 2.01 6.13
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Figure S1. Evolution of the viscosity with the shear rate of suspensions with 15,20 and 25%wt. BA and a) 8g/L of MC,
b)10g/L of MC and c) 12g/L of MC.
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Figure S2. Mercury Instrusion Porosimetry Curves of the samples with different XP at the same XT or XG.



